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INTERNATIONAL AND AREA STUDIES
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Which article of the UN charter authorizes the Secretary-General to ‘bring to the attention
of the security council any matter which in his opinion may threaten the maintenance of
international peace and security ?

(1) Article 1 (2) Article 2
(3) Article 33 (4) Article 99

2. Under the nuclear proliferation debate, which one of the following arguments is not
compatible ?

(1) Nuclear weapons have proliferated vertically as the nuclear weapon states have
increased their arsenals.

(2) Nuclear weapons have proliferated horizontally to other states only slowly.

(3) New nuclear states may not feel the constraint on the use of nuclear weapons due to
irrational decision making, accidents and growing dangers of nuclear terrorism.

(4) The possibility of a nuclear war decreases as deterrent and defensive capabilities
increase.

3.  Which one of the following countries sold some missiles with 3000 km range to Saudi
Arabia against the MTCR guidelines in the year 1988 ?

(I) China (2) USA
(3) Britain (4) France

4.  Which one of the following is not included in the basic elements of state security ?
(1) Physical safety (2) Autonomy
(3) Development (4) Arbitrariness

5. Name one of the below given mountain ranges which stand between India and Myanmar ?
(1) Himalayan range (2) Annamite range
(3) Nu Shan range (4) Arakan mountain range
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6.  Identify the correct code for Assertion (A) and Reason (R) as given below :
Assertion (A) : The theory of complex interdependence proposed by Robert Keohane and
Joseph Nye is an opposing theory to neo-realism in international relations.
Reason (R) : The basis of this interdependence is the changes in the global environment
resulting from the information age even during the cold war years.

Codes :

(1) Both (A) and (R) are correct, but (R) is not an explanation of (A).
(2) Both (A) and (R) are correct and (R) is an explanation of (A).

(3) (A) is correct, but (R) is not correct.

(4) (A) is not correct, but (R) is correct.

7.  Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : Acknowledging the behavioural pressures of the world on the charter
guidelines on the use of force, the possibility exists that contested use of force under
the charter are ‘illegal, yet legitimate’ for the benefit of re-establishing peace.

Reason (R) : Intervention is legitimate in cases of crimes against humanity and
establishment of democracy.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are incorrect.

(3) (A) is correct, but (R) is not correct.

(4) (A) is not correct, but (R) is correct.

8.  One of the four debates in international relations involves an attack on the established
traditions by alternative approaches also referred to as post-positivist alternatives. The
debate raises methodological as well as substantial issues. They also reject the scientific
claims of neo-realism and neo-liberalism. This is a reference to which of the following

debates ?
(1) Debatel (2) Debate 11
(3) Debate III (4) Debate IV

9.  Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : In a bipolar power distribution, two super powers and their blocs
dominated the system.

Reason (R) : The cold war was always characterised as bipolar.
Codes :

(1) Both (A) and (R) are correct, and (R) supports (A).

(2) (A) is correct, but (R) is not correct.

(3) (A) is not correct, but (R) is correct.

(4) Both (A) and (R) are not correct.
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10.

11.

12.

13.

14.

Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : Globalisation of production and technology has internationalised defence
industries.

Reason (R) : In fact, institutions of defence have been shifted from state to multinational
control with few countries having a wholly autonomous military production
capability.

Codes :

(1) (A) is correct, but (R) is not correct.

(2) (A) is not correct, but (R) is correct.

(3) Both (A) and (R) are correct, and (R) supports (A).

(4) Both (A) and (R) are not correct.

Which one of the following statements correctly explains the theory of Hegemonic

stability ?

(1) The world political economy needs a hegemony who is authoritarian.

(2) Itis a substitute for anarchy.

(3) Itadvocates World Bank and IMF to govern the political economy.

(4) That a dominant military and economic power is necessary to ensure the stability
and prosperity in a liberal world economy.

Which one of the following is not a condition of ‘asymmetric Warfare’ ?

(I) Characters of the combatants are different.

(2) Areas of comparative strategic advantage are different.

(3) The weak side adopts the strategy of targeting the enemy’s domestic political base
as well as his military capabilities without suffering unbearable retaliation in return.

(4) Characters and the areas of relative strategic gain are same.

Who among the following stated that “I see God in the smiles of the poor” ?
(I) Vinoba Bhave (2) Mahatma Gandhi
(3) Amartya Sen (4) Anna Hajare

Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : The advance of globalization since the nineties triggered new regionalism
to rejuvenate and strengthen relations between the developed and the developing
countries.

Reason (R) : Regionalism bridges the gap between the developed and the developing
countries.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are incorrect. Nor (R) an explanation of (A).

(3)  (A) is correct but (R) is not the exact explanation.

(4) (A) is not correct explanation but (R) is correct.
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15.

16.

17.

18.

19.

Which one of the following is not included in India’s Nuclear Doctrine and posture ?
(1) First use against the enemy (2) No-first use
(3) Credible minimum deterrence (4) Retaliation against NBC attack

Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : Economic capability is itself an instrument of policy available to states
and is capable of being applied as a force.

Reason (R) : In absence of military confrontation, economic criteria will primarily
determine the pecking order in the international community.

Codes :

(1) Both (A) and (R) are correct, and (R) supports (A).
(2) Both (A) and (R) are not correct.

(3) (A) is correct, but (R) is not correct.

(4) (A) is not correct, but (R) is correct.

The Nuclear Non-Proliferation Treaty (NPT) was extended indefinitely on :
(1) 11 May, 1995 (2) 13 May, 1995
(3) 11 May, 1974 (4) 13 May, 1974

Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : While military threats have been reduced in the new world economic
order, fears of economic vulnerability have actually increased.

Reason (R) : This is because in the modern, hi-tech, globalised economy, states find it
increasingly difficult to procure every required military means through national
production.

Codes :

(1) (A) is correct, but (R) is not correct.

(2) (A) is not correct, but (R) is correct.

(3) Both (A) and (R) are correct, and (R) supports (A).
(4) Both (A) and (R) are not correct.

Which one of the following statements is not linked with the multi-dimensional peace
keeping or peace enforcement under the UN mandate ?

(1) It emerged after the cold war as a necessity.
(2) Use of force is more likely to achieve humanitarian ends.

(3) This peace-keeping mandate is based on chapter VII of the UN charter, enabling the
use of force to address civil war as well as international conflicts.

(4) The peace-keepers don’t maintain neutral position at all.
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20.

21.

22.

23.

Arrange the following in their ascending chronological order and use the code given
below :

(i) NPT entered into force.

(i)  Anti-Ballistic Treaty signed by the USA and the erstwhile Soviet Union.
(ii1)) North Korea’s withdrawal from the NPT.

(iv) Comprehensive Test Ban Treaty opened for signature.

Codes :

(H @® G (@Gv) (i)

2 @O @@ a1 (@Gv)

(3) @Gy () @Gv) @)

@4 @) @Gv) G) @)

The warfare, which is related to a state’s ability to attack another state’s computers and
information networks and to protect its own capability from attacks by adversaries, is
called :

(1) Space warfare (2) Cyber warfare

(3) Electronic warfare (4) Asymmetric warfare

Which one of the following countries is not a member of the Missile Technology Control
Regime (MTCR) ?

(1) Argentina (2) Brazil
(3) Australia (4) India

Arrange the following in their ascending chronological order and use the code given
below :

(1)  Institutionalization of “Agreed Frame work™ for North Korea.

(i1) Irish resolution in the UN General Assembly to prevent additional states from
acquiring nuclear weapons.

(ii1)) Establishment of the UN Atomic Energy Commission.

(iv) Establishment of the International Atomic Energy Agency.
Codes :

(H ® @G @G (@Gv)

(2 Gy @) 3Gv) @)

(3) (@) @) aGv) @)

4 Gv) @) @G (i)
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24.

25.

26.

Match the following List — I (Personalities) with List — IT (Achievements/Works) by using
the correct code :

List -1 List — 11
(Personalities) (Achievements/Works)
(a) Razan Ghazzani (1)  Nobel Peace Prize

(b) Manal-al-Sharif (i) Media Work
(c) Tawakkol Karman  (iii) Founder of Arab Women’s Solidarity Association
(d) Nawal Al Saadawi  (iv) Women’s Rights Movement
Codes :
@ ® @© @
() @ Gv) @ (i)
(2) (@) @Gy @Gv) @)
3 O @G G) (@)
4 Gv) @ () (1)

Match the following given in List — I (Places) with List — II (Events) by using the correct
code :

List - I List — IT
(Places) (Events)
(@) Manama (i) Start of Libya’s prodemocracy movement
(b) Sana’a (i) Demonstration in Yemen
(c) Benghazi (iii)) Start of Syrian uprising
(d) Dara’a (iv) Peaceful protest demonstration
Codes :

(@ (b () (@
(H G @H G @)
2 Gv) @ @ (i)
(3) @Gy i) 3[Av) @
@ @ (av) (i) (1)

Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : The US and West European countries are responsible for the current
miseries of the Arab World.

Reason (R) : The Arab world itself is also equally responsible.
Codes :

(1) Both (A) and (R) are correct, and (R) supports (A).

(2) Both (A) and (R) are not correct.

(3) (A) is correct, but (R) is not correct.

(4) (A) is not correct, but (R) is correct.
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24.

25.

26.

:ﬁﬁﬁqﬁ’gﬂqumwﬁ@gﬁ—l@ﬁﬁ@aﬁ@—n (SUATeET) & AT gHTerd
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B
@ @® © (@
(h @Gy @Gv) @ (i)
2 @) @ 3Gv) @)
3 O (@) ) (v)
@ av) (@ (@) (i)

?ﬁ?qwﬁﬁmﬁﬂﬁ—lﬁﬁﬁﬁ?ﬁﬁaﬁlﬁr—Hﬁa“rmﬁawaﬁa?wgﬁﬁﬁ
T -1 = - 10
() (T
(a) TAMT (i) N o oliehdT THdH ST i I3
(b) |ET (i) TETH UEIH
(c) ST (i) R H fosie o I5eid
(d) TR (iv) ifqoo foRre ueee

[ T

(=N

(@ (b () (@
(H G @H G @)
@ Gv) @ @ (i)
(3) @Gy i) 3GAv) @
@ @ (av) (i) (1)

fr=fefaa 3o (A) @1 T (R) & &l T Ht TedH it

ATUHYT (A) : TIFT T SR T JAU I SRE-SOT § T Tohe o o1 PR & 2
T& (R) : G-I @F G €9 4 SRR E |

&<

(1) (A) 3R (R) 3HT Tl & 3T (R), (A) T G0 FAT & |

(2) (A) IR (R) AT TAAE |

3) (A) W&l & W (R) Terel € |

(4) (A) TAd &, R (R) TET € |
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27. Match the following in List — I with List — II with the help of the code given below,
against the backdrop of US military occupation of Latin America :

List -1 List — II
(Country) (Years)
(a) Dominican Republic (i) 1917-22
(b) Haiti (i) 1916-24
(c) Cuba (iii) 1912-25
(d) Nicaragua (iv) 1915-34

Codes :

@ (b (© (@
(H ) Gv) @ (i)
2 ©® (@) @G (@Gv)
(3) @ @) @Gv) @
@ Gv) @) @G 1)

28. Identify the name of the first female member of parliament in the Arab World :
(1) Rawya Ateya (2) Tonjan al-Faisal
(3) Amal al-Qubaisi (4) Haneen Zoubi

29. Match the following given in List — I (Choke Points) with List — II (Regions) by using the
correct codes given below :

List -1 List - 11
(Choke Points) (Regions)
(a) Bab-el-Mandeb Strait (i) Between Persian Gulf and Gulf of Oman and
Arabian sea.

(b) The straits of Malacca (ii) Between Indian Ocean, South China sea and
Pacific ocean.

(¢)  Straits of Hormuz (111) Between Red sea and Mediterranean sea.
(d) Suez Canal (iv) Between Red sea, Gulf of Aden and Arabian sea.
Codes :

@ (b (© (@
(H ® @) @G (@Gv)
(2) Gv) (@) @) @
(3) Gv) @Gy (@ (i)
4 Gv) @) (@) @
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27.

28.

29.

Wl 3TaReRT &1 SR T Heot B =l §, 99 I T He A Gerdar 9 g&r — [ w
Tl — 11 ¥ gRfAT DT ;

T -1 = - 11
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(b) &t (i) 1916-24
(c) g (iii) 1912-25
(d) FeRTreT (iv) 1915-34
T

(@ (b () (@
H G  Gv) @ (i)
@ @ @) G @)
(3) @G G) 3Gv) @
@ @Gv) O > (>G)

IRT ST H THS I FIH AEAT TS o AT I Jgd DI
(1) = uaan (2) TH TA-TeT
(3) 3T STA-Ferdl (4) & S

T fST T e BT TEIT H g G — [ (T diE=) i ger — 11 (81 & T GAferd i

=t - 1 = - 10
(T UTE<H) (84

(a) WTE-3T =S STASHETE (i) RE H GrEl A A HI @it e i
IR & &

(b) TATH TASHERE (i) &= AT, SieToT 99 HIR SR URTd TR
% d

(c) ERES STTSHEHE (iii) T AR 3R AT WX & S

(d) @I T&T (iv) AT 9N, 3Te & @rel 3T 2RfeFT AR & i

&he

(=N

(@ (b () (@
H @ G G aGv)
(2 @Gv) (i) @G) @
3 Gv) @ @ (i)
@ @Gv) ) >\ @)
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30. Arrange the following ‘Treaties’ in ascending chronological order of years of their signing
with the help of the codes given below :

(1)  Treaty of Tientsin
(i1) Treaty of Yandabo

Codes :
(1) (i)
2
(3) ()
4) (v)

(ii)
(ii)
(iii)
@

H  @Gv)
(i) (iv)
@av) (@
Gi)  (iii)

(iv) Treaty of Saigon

(1)) Anglo-Siamese treaty

31. Match the following International Organizations given in List — I with their headquarters
mentioned in List — IT and use the correct codes given below :

List -1 List — II
(International Organizations) (Head Quarters)

(a) Organization of Islamic Conference (1) Cairo
(b) The League of Arab States (i) Jeddah
(c)  Organization of Petroleum Exporting Countries  (ii1) Abidjan
(d) African Development Bank (iv) Vienna
Codes :

@ @® (© (@
(H @) @ >4v) (@)
2 O aGv) @) (i)
(3 @) @ @G (@)
@4 @G @@ (>Av) ()

32. Match the years given in List — I with the events given in List — II. Find the correct answer
by using the codes given below :

List - 1
(Years)
(a) 1802
(b) 1842
(c) 1862
(d) 1885
Codes :
(a)
(H
(2) v)
(3) (i)
4) ()

Paper-I111

(b)
(iv)
(iii)
(i)

List - II
(Events)
(1)  Third Anglo-Burmean War
(1))  French Occupation of Cochin China
(11) Treaty of Nanking
(iv) Unification of Vietnam

© @
Gi)  (iii)
@) (@
H  Gv)
(i) (iv)
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30.

31.

32.

e ST T F2 FH TANT A gU HETeRad GEd i 39 W EERR BT S % 9y o TR
FHOTHY § A HifT :
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@ Gv) ©H Gy (i)
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(c) T IR <M HT TS (IMHESIE 3% USicrom TaadifeT (ifi)  3ifermet
)
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T

(=N

(@ (b () (@
(H @G @H >Gv) (3G
@ @ Gv) @) (i)
(3 @i @H G @)
@ G @ aGv) (i)

gt — 1 ¥ U 7T a6t Bt get — 11§ & e "l & 9 gAted Sie | T KT T e @
TR Y §Y el ST g

T -1 = - 10
(@) (eATY)

(a) 1802 () AT A-TH IF
(b) 1842 (i) It = 9T HEE! e
(c) 1862 (il) ST Ty
(d) 1885 (iv) Toaa=Td 1 Ui
%
@ (b (© (@
1 @ @Gv) () (i)
(2) (v) (i) @[ @)
(3) (i) () @) (iv)
4 Gy @) i) (iv)
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33. Identify the correct group of countries claiming ‘Spratly islands of South China Sea from
among the countries given below :

(1) Thailand, Vietnam, Myanmar, China, Taiwan
(2) China, Indonesia, Brunei, The Philippines, Malaysia
(3) Singapore, Indonesia, Vietnam, Thailand, Cambodia

(4) China, Vietnam, The Philippines, Malaysia, Brunei, Taiwan

34. Match the authors in List — I with their books given in List — II, using the codes given

below :
List - I List - II
(Authors) (Books)
(a) D.G.E. Hall (1)  Southeast Asia : Its Historical Development

(b) R.C. Majumdar (1)) Vietnam : A political history
(c) JohnF. Cady (111) Ancient Indian Colonies in the far East.
(d) Joseph Buttinger (iv) A History of South-East Asia.
Codes :
@ (b () ()
(H @ @ @ @Gv)
2 Gv) @® a) (i)
3 ® @) (@av) (i)
@4 Gv) @) @ (D)

35. Name one of the following countries in Southeast Asia where monarchy is in existence :
(1) Laos (2) Thailand
(3) Myanmar (4) Indonesia

36. ‘Uyghur’ ethnic group in China follows which one of the following religions ?
(I) Buddhism (2) Islam
(3)  Christianity (4) Hinduism

37. Which year did the present king of Thailand, Bhumibol Adulyadej ascend the throne ?
(1) 1932 (2) 1940
(3) 1946 (4) 1954
Paper-111 18 J-90-16



33.

34.

35.

36.

37.

fr=tafad 390 o ¥ 37 <90 & G Bl Ted HINTT, ST SRI0T O 9rR | Ferd Sieet 50 1)
T I €
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e i -
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(a) ST EEe () TSY-TE TR, 3H el SaeTTH=
(b) I TSHEIR (i) foudams : € gifafese Tt
(c) i T el (ifi) Tfde T FAMS 3 3 FR T
(d) ST R (iv) U R 3 sy T uiemE

%

(=N

(@ (b () (@
(H G @ @ @)
@ Gv) ® Gy (i)
3 @ @@ Gv) (i)
@ @Gv) i) @H >G)

heqoT g wirer % Tfeiaa o 9 fora 391 § Tt ot off & 2

(1) cmet™ (2) oreie

(3) WMR (4)  wEHRHE
I H SR JAT G FEfeRad 5 9 69 o B 7 € 2
(1) dged (2) T

(3) @ &g

ATEAE o TTH FHIE AT TGedIST = el ISARET T 2
(1) 1932 (2) 1940
(3) 1946 4 1954
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38.

39.

40.

41.

42.

In which one of the following conferences a decision was taken to divide Vietnam at the
17" parallel ?

(1) San-Francisco Conference (2) Paris Conference

(3) Berlin Conference (4) Geneva Conference

When did Thailand get transformed into a constitutional monarchy ?
(1) 1906 (2) 1932
(3) 1941 4 1952

Arrange the following events in ascending chronological order using the codes given
below :

(i)  Partition of Africa

(i) Africa’s independence

(iii)) Slave trade

(iv) Pan-African conferences outside Africa
Codes :

(H ® Gv) G G)

(2) @) (@)  (>Gv) (i)

3 Gy @Gv) @ (i)

4 Gv) @) (@) @

Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : The Somalians constituted one of the homogenous nations of Africa with
a common ethnic heritage and shared language and Islamic faith. But it became a
focus of conflict in Africa.

Reason (R) : Territorial claims led to several skirmishes between Ethiopia and Somalia.
Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are incorrect.

(3) (A) is correct, but (R) is not the true explanation.

(4)  (A) is not the right explanation for (R).

Where did the Boko Haram group originated ?
(I) Borno (2) Yobe
(3) Gombe (4) Kinshasa

Paper-111 20 J-90-16



38.

39.

40.

41.

42.

frefafad 4 9 g gmeq 9 fauaam ot 179 et X fofsta s o1 o foran man an 2
(1) 7 wifewh e (2) IRE g
(3) dfe g (4) e e

frAfefad 5 e Al bl ToTeh ToTas H AR fohar 73T 2
(1) 1906 (2) 1932
(3) 1941 4 1952

T 753 T e B el ¥ =Teiad geATst Sl S SR HITshATAR SHared Sifsw :
(i) TR T oS

(ii)  3THISRT I LT

(iii) TCTET ST AR

(iv) 3ToRIT % SET Y- 3ThIhT T

T

() @ (Gv) (3G (i)

(2) (@) (@ (@Gv) (D)

(3) Gy @Gv) @@ (D)

@) (@v) (@@ 3G 3@

fr=fefEa sifieem (A) 91 @ (R) & &l T Hl TgdH DT :

AU (A) ¢ FEITaE AT A U W ST foRTEd, S Wi 3R ST S %
T FHEY SThIh! S9N 1 TS [hAT | Tk, T 3R § W &1 fawg a7 |

T (R) : Y- ST o ShROT SIS 3iX WHferar o sie 3 3Ted g¢ |

%

(1) (A) 3R (R) THI @& & |

(2) (A)IATR) I TATE |

(3)  (A) W&, W (R) el e Tl ¢ |

4) (A, (R) I Tl = Tl § |

STl BT TUE T ST el & gel o7 2
(1) @ 2) a9
(3) = (4) T

J-90-16 21 Paper-I11



43.

44.

45.

Identify the initiating states that formed the New Africa Partnership for Africa’s
Development (NEPAD) :

(1) Algeria, Senegal, Nigeria, South Africa
(2) Ghana, Senegal, Nigeria, Botswana

(3) Angola, Eritrea, South Africa, Gabon
(4) Algeria, Angola, Ghana, Sudan

Arrange the following events in ascending chronological order using the correct codes
given below :

Events :

(A) Sharpeville Massacre (B) UDI Declaration

(C) Rwanda Genocide (D) Apartheid introduced
Codes :

(1) (A), (O), (D), (B) 2) (D), (A),B), (©)

(3)  (B), (O), (D), (A) @ (©), D), (A), (B)

Match the hydropower stations/Dams given in List — I with countries given in List — II,
where these are situated, using the codes given below :

List - I List - II
(Hydropower stations/Dams) (Countries)
(a) Nurek (i) Egypt
(b) Tarbela (1)) Kyrgyzstan
(c) Aswan (ii1)) Tajikistan
(d) Kambarta (iv) Pakistan

Codes :

@ () () ()
H @O (@) G)  (@Gv)
(2 ) @Gv) @G @)
(3) (@) @Gv) @ ()
@ Gv) @) (i) (@)
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(@ (b () (@
H @ G G aGv)
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@ @Gv) ) >\ @)
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46. Match the following (Initiatives) given in List — I with List — II (Leaders), by using the
codes given below :

List -1 List - II
(Initiatives) (Leaders)
(a) Virgin Land Campaign (1) Lenin
(b) Vladivostok Initiative (i) Khrushchev
(c) Collectivisation Campaign (iii)) Gorbachev
(d) Nationalities Policy (iv) Stalin

Codes :

@ ® @© @
() @y @G Gv) @)
2 O Gy @) @)
(3) () @Gv) @) @
4 Gv) (@ () (1)

47. Match the political parties given in List — I with the particular country of their origin given
in List — II, by using the codes given below :

List -1 List - 11
(a) Islamic Renaissance Party (i) Kazakhstan
(b) Hizb-e-Islami (i) Uzbekistan
(c) Adolat (ii1)) Afghanistan
(d) Nur-Otan (iv) Tajikistan

Codes :

@ ® @© @
(H ® @Gy @G @GQv)
(2 () @G @ (@0Qv)
(3) Gv) @) @) @)
4) () @Gv) @) @

48. Match the events given in List — I with the country of their occurrence, as given in
List — II, by using the codes given below :

List - I List - II
(a) Andijan riots, May 2005 (1)  Tajikistan
(b) Zeltoksan events, December 1986 (ii) Uzbekistan
(c)  Oshriots, June 1990 (11) Kazakhstan
(d) Dushanbe riots, February 1990 (1iv) Kyrgyzstan

Codes :
@ ® © @
(Hh ® Gv) (@) (1)
(2) (@) @Gy Gv) @)
(3) @y @G Gv) @)
4) Gv) @Gy (@ (i)
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=t - 1 = - 10
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(L ® Gv) G G)
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49. Match the following given in List — I (Air bases/Space stations) with the List — II
(Countries), by using the codes given below :

List - I List - II
(Air bases/Space stations) (Countries)
(a) Baikanour (1)  Tajikistan
(b) Aini (1)) Kyrgyzstan
(c) Manas (11) Uzbekistan
(d) Karshi-Khanabad (iv) Kazakhstan

Codes :

@ (b (© (@
(L ® @G @[ (@Gv)
(2) ) (@@) @Gv) @
(3 Gv) @) @Gy (i)
4 @) @G 3G @

50. Match the pipelines given in List — I with the origin of their country/region given in
List — II, by using the codes given below :

List - I List - II
(a) TAPI (1) Russia
(b) IPI (i) Azerbaijan
(c) Baku-Thbilisi-Ceyhan (1i1) Iran

(d) Urengoy-Surgut-Chelyabinsk  (iv) Turkmenistan
Codes :
@ (b (© (@
(L ® @) Gv) G
(2) Gv) (i) @) @
3 ) Gv) @ (i)
4 @) @G 3G @

51. Which year Russian Federation was given the membership of WTO formally ?
(1) 2009 (2) 2010
(3) 2011 4) 2012
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@ (i) G Gv) ()
51. O 99 %I g 99 fave AR 99 (S 2t 31 i STu=nRes S8 W g8 ?
(1) 2009 (2) 2010
(3) 2011 (4) 2012
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52.

53.

54.

5S.

56.

In 2016, Russian economy as the most innovative economy in the world, stood at the
following place :

(1)y 18 2) 14
3) 12 4) 10

The 18™ SAARC Summit was held at Kathmandu in 2014. The theme of the Summit was
“Deeper Integration for Peace and Prosperity”. Which one of the major agreements was
signed during this Summit ?

(1) The agreement for the regulation of passenger and cargo vehicular traffic.
(2) The SAARC regional agreement on railways.
(3) The SAARC framework agreement for energy cooperation.

(4) SAARC agreement on rapid connectivity in South Asia.

Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : The Kkilling of Taliban supremo Mullah Mansour by the first ever US
drone strike inside Pakistan territory of Balochistan and with the US President
Obama calling it “as an important milestone”, reflects a renewed US effort to
combat terrorism in the region.

Reason (R) : Pakistan’s protest that its sovereignty has been violated by the US drone
strike killing Mansour, the prospects of peace in the region look dim.

Codes :

(1) (A) is correct, but (R) is incorrect.
(2) Both (A) and (R) are correct.

(3) (A) is not correct and (R) is correct.
(4) Both (A) and (R) are incorrect.

Which one of the following agenda items in the India — Sri Lanka Free Trade Agreement,
of 1998, was absent in the text ?

(1) Establishment of trade barriers against other states.
(2) Promotion of fairness in trade.
(3) Promotion of reciprocity.

(4) Promotion of harmonious development of economic relations.

Which Tamil militant group from Sri Lanka was involved in the attempted coup in
Maldives in 1989 ?

(1) LTTE (2) PLOTE
(3) TELO (4) EPRLF
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52.

53.

54.

5S.

56.
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57.

58.

59.

60.

61.

62.

Which country amongst the following voted against the admission of Pakistan to the
United Nations in 1947 ?

(1) The US (2) UK
(3) India (4) Afghanistan

Who among the following was a former leader of the Northern Alliance ?
(1)  Gulbuddin Hekmatyar (2) Najibullah
(3) Ahmed Shah Masood (4) Babrak Karmal

The ideology of “Islamic Socialism” was propagated by which political leader in
Pakistan ?

(I) Mohammad Ali Jinnah (2) Zulfigar Ali Bhutto
(3) Liaquat Ali Khan (4) Mohammad Khan Junejo

China — Pakistan Economic Corridor (CPEC) passes through which one of the following ?
(1) Iran (2) Nepal
(3) Bhutan (4) Pak-occupied Kashmir

Arrange the following agreements in ascending chronological order with the help of the
codes given below :

(a) Geneva Accords on Afghanistan
(b) US — Afghanistan strategic partnership agreement
(c) Heart of Asia — Istanbul process

(d) Bonn Agreement on Afghanistan

Codes :
(D) (b), (c), (d), () (2)  (d), (b), (0), (a)
(3)  (a),(d), (), (b) 4 (©),(b), (), (d)

In which year the kingdom of Bhutan made a transition from an absolute monarchy to a
constitutional monarchy ?

() 2008 (2) 2009
(3) 2011 (4) 2013
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57. fAfafed O ¥ 58 3913 1947 H Uik o G T § VAT & foeeg T foham ar 2
(1) EgF T SR (2) TS fheH
(3) 9ra (4) TR

58. IS TR 1 gd HaT (HETerad B J i o1 9

(1) ToEEF fehuaar (2) TSigeet
(3) 3TRHS WE AYR (4) TEH HEHA

59. UIhEd™ | fhe ToTiTaes =aT 7 “TEHl TasarR” TaaReRT sl TR o6 € 2

(1) Hiewms 37el S (2) STRIBR el get
(3) foramha ol @i (4) HEES @ A

60. T — TR ST Mo (J df € 9 Frefafad 5 & 81 ¥ gt Tord § ?
(1) = (2) =
3) W\ (4)  Th- ST HIHAR

61. = ¥ T e b Geradn ¥ FAfeiad THehdl Sl RIS HIeTHIaR SAaied it :
(a) TR o Hae § SaT qeeiar
(b) 3TN — SHRAT FTAT WIERT THT
(c) I 3k QRTa — FRATeefer S (k)
(d) STEMEIH % Hag F q Foeiar

E T
(D) (b), (¢), (), (a) (2) (@), D), (c), (a)
(3) (a),(d), (¢c), (b) 4)  (c), (b), (a), (d)

62. F % ST A 69 a9 | gl TSTas § WAHTHe ISTad S 3R aRacH foham a1 ?
(1) 2008 (2) 2009
(3) 2011 4 2013
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63.

64.

65.

The US did not ratify the Rome Statute establishing International Criminal Court (ICC)
for the following major reason :

(1)  US can better help suffering people than the international institution.
(2) ICC is influenced by global politics.
(3) Financial cost for ICC is high.

(4)  Structural difficulties in ICC.

Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : Achieving a peaceful resolution that prevents Iran from obtaining a

nuclear weapon is in America’s national security interest.

Reason (R) : Broadening US engagement based upon mutual interest serves peace and
stability in the world.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are incorrect.

(3) (A) is correct, but (R) is not the exact explanation.

(4) (A) is not correct, but (R) is correct.

Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : Promotion of judicial independence and democratic control of the

judiciary in the US may be arrayed in a continuum.

Reason (R) : Judicial independence is shaped by different legal experience, political

tradition and cultural environment of the country.
Codes :
(1) Both (A) and (R) are correct.
(2) Both (A) and (R) are incorrect.
(3) (A) is correct, but (R) is not correct.

(4) (A) is not correct, but (R) is correct.
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63.

64.

65.
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66.

67.

68.

69.

70.

Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : The United States occupied Cuba, took away Panama and established a
protectorate in the Domican Republic to strengthen its sphere of influence.

Reason (R) : Social and political upheavals ultimately require intervention by the United
States in Latin America.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are incorrect.

(3) (A) is correct, but (R) is not correct.

(4) (A) is not correct, but (R) is correct.

Which country in Latin America is a member of OPEC ?
(1) Argentina (2) Mexico
(3) Chile (4) Venezuela

Identify the economic organization that served as the first ‘building block’ for the creation
of US-led Free Trade Area of Americas :

(I) MERCOSUR (2) Andean Community

(3) CAFTA (4) CARICOM

Arrange the following in ascending chronological order and use the code given below :
(1)  North American Free Trade Agreement (NAFTA).

(i)  Arab Maghreb Union (AMU).

(ii1)) The First UN Conference on the Human Environment.

(iv) The UN Conference on Trade and Development (UNCTAD).

(L @ @G @) (@Gv)

(2) @Gv) (@) @G (@

(3 @Gy (@) @Gv) (@

(4) () @v) @) (@)

Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : The United States as the dominant power in the present world order
enjoys exemption from legal accountability with respect to the use of force
irreconcilable with the UN charter system.

Reason (R) : In contrast, other states would be generally held responsible unless directly
protected by the United Nations.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are not correct.

(3) (A) is correct, but (R) is not correct.

(4) (A) is not correct, but (R) is correct.
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66.

67.

68.

69.

70.
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(i) oRT TeRT G (TUHF,)

(iii) A TATERUT T YT IR I T

(iv) SR Td e T g T e (31Hhrs)

kT

(H @ Gy 3Gi) (v)

(2) (Gv) (@) @[) @
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%
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Read the paragraph given below and answer the questions based on it, ranging from 71 to 75 :

Leaders and governments facing terrorist attacks have to defend against the danger of
these attacks. Since there is no one overwhelming cause or source of terrorism, partially because
it i1s a technique that can be used by different groups for different causes, countermeasures
become more difficult. Sederberg’s threefold typology is relevant as a point of reference
because some security or counterterrorism measures are more in keeping with viewing terrorism
as war, others fit terrorism as crime, and yet others are more relevant for the disease analogy.
Counterterrorism measures can also be considered within the scope of prevention, response to

attacks, international collaboration, and the effects of security measures on civil liberties.

Prevention is normally associated with the concept of terrorism as war or crime. All
governments will practise prevention — repression from the terrorist perspective — by seeking to
arrest or eliminate those actively involved in the violence. Security forces attack the terrorists
before they strike (war) or they are arrested after the attack (crime). Clearly, which concept of
battling terrorism is chosen helps to determine security policy. The war conceptualization, for
example, permits a stronger pre-emptive response. In actual fact, however, the military and

police functions do not have a precise dividing line.

Police forces dealing with dangerous criminals (terrorist or otherwise) may shoot first and
ask questions later. In both the warfare and criminal models, there may be a desire to capture
terrorists to elicit further intelligence, sometimes by offering shorter sentences to captured
terrorists in exchange for information. Informers, whether members who have turned or agents,
inside the terrorist groups can be key assets for the security forces for gathering intelligence.
Such intelligence gathering is hard for small groups; they are usually too cohesive for effective
infiltration. Larger organizations are easier to penetrate and gain information. But it is unlikely
that all the operations of larger groups can be stopped except with the passage of time.
Similarly, loose network groups like al-Qaeda and right-wing extremist groups in the United
States and Europe are unlikely to be dismantled due to any single intelligence coup, although

actions based on successful intelligence gathering can weaken them.

Greater physical security measures are another preventive option that has merit whether
one views terrorism as war, crime, or disease. Not every possible target can be protected, but
key installations, including potential sources of materials for weapons of mass destruction,
however, need to be secured. In other cases security can be enhanced for many potential targets

even if all attacks cannot be prevented.
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71.

72.

73.

74.

75.

Governments battling terrorism are accused of one of the following :
(1)  Suppression (2) Repression

(3) Human Rights Violations (4) State terrorism

Which among the following is not a part of Sederberg’s typology of terrorism ?
(1) Poverty (2) War

(3) Crime (4) Disease

According to the author larger terrorist organizations are easier to penetrate but it is

difficult to stop their operations. What is the purpose of penetration ?
(I) To wreck them from inside

(2) To immobilise them from inside

(3) To gather information

(4) Penetration anyway is not helpful since their operations cannot be stopped.

Security policies are decided on the basis of the chosen concept of battling terrorism.

Which of the following statements qualifies the above statement ?

(1) The poverty conceptualisation permits only a developmental approach.
(2) The war conceptualisation permits a strong pre-emptive response.

(3) The crime conceptualisation permits only a law and order approach.

(4) The disease conceptualisation necessitates an examination of the health of the body

politic.

According to the author which terrorist groups will be difficult to dismantle :
(1) Loosely networked groups (2) US and European groups

(3) Al Qaeda (4)  Groups based on criminal models
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71.

72.

73.

74.

75.
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